
Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1058478-NLA NLA - Tube, Legrest Support - Right 1 11
1058479-NLA NLA - Tube, Legrest Support - Left 1 11

1027097 Plug Button, Black (3/4") 1 12
40363X000 Hex Nut (3/8"-16) 1 33

1022854-NLA NLA - Screw, Shoulder Slotted Head (1/2 x 1-1/8",
3/8-16)

1 14
1022877-NLA NLA - Tube, Support and Drive Link, Chrome - Right 1 15
1022878-NLA NLA - Tube, Support and Drive Link, Chrome - Left 1 15

1022848 Tube, Slide, Articulating, Chrome - Right 1 16
1022849 Tube, Slide, Articulating, Chrome - Left 1 16
1027377 Washer (#20) 1 17

7930363-NLA NLA - Package, Locknut (5/16"-24) 25 18
11232X009 Bolt, Lug  (5/16-24 x 1-3/8") 1 19

1022866-NLA NLA - Screw, Socket Button Head (3/8-16 x 3/4") 1 210
1049527 Washer, Nylon (3/8 x 3/4 x 1/16") 1 211

1022846-NLA NLA - Bar, Link, Black 1 112
1058482-NLA NLA - Legrest Support Assembly, Articulating, Adult,

Chrome - Right
1 1A

1058483-NLA NLA - Legrest Support Assembly, Articulating, Adult,
Chrome - Left

1 1A
A - Not Shown NOTE:

 

PAS4A/PAL4A Articulating Legrest Support Assembly
(Pin Style)

Chrome 14"-24" Wide Chairs


